A STORY OF UNITS Lesson 2 Homework L/
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Use the RDW process to solve Problems 1-3.

Dawn needs to pour 3 gallons of water into her fish tank. She only has a 1-cup measuring cup. How many

e ghovld put-

1.
cups of water should she put in the tank?
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Julia has 4 gallons 2 quarts of water. Ally needs the same amount of water but only has 12 quarts. How

lgﬁmfl’s oquuls 2 gpllons.

2.
much more water does Ally need?
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Sean drank 2 liters of water today, which was 280 milliliters more than he drank yesterday. How much

did he drink day?
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4. Complete the tables.
a. b.
Gallons Quarts Quarts Pints
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E}I’IFI'EHKA N T esscrement tools. and use the tables o soive proplems.
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5. Solve. % O
a. 6 gallons 3 quarts = 2—7 quarts b. 12 gallons 2 quarts =

= _ Y  quarts
x4z 2% 4+3=27 1axy= 4R UY+a= Go
c. 5quartslpint= \ | pints d. 13 quarts 3 pints = ] cups
Bxa=0 W= 1L 3I%2= 2 2+3=29 29x2=5%
e. 17 gallons 2 quarts = [L['D pints f. 27 gallons 3 quarts = H'_‘['-I' cups
17%8 =134 3p+lU=1ty 27 x4 =109 U xYy= Hu¥ tups
2%3-= 4 e +'s=m1’r Wixy= 4 3

6. Explain how you solved Problem 5(f).

ANSWERS wiLL VARY.
Fvst we cmverted gallons 4o quarts. Then conver¥ed tutal number op quacts
jls Cups.

7. Answer true or false for the following statements. If your answer is false, make the statement true by
correcting the right side of the comparison.

a. 2quarts>;lﬁpints F‘ALSE

b. 6 liters = 6,000 milliliters I : HAE

c. 16cups<4quarts l’cup Fkbsg
Ocves

8. Joey needs to buy 3 quarts of chocolate milk. The store only sells it in pint containers. How many pints of

chocolate milk should he buy? Explain how you know. gﬂdl\ 611&’"_" I'S Zﬂﬂl ’,’D 217;""-5-
i ‘buur'l' i “,Mr'l" _’L ﬁbur'l'

3 quarts is qualdo G pins.

2. p‘m'l's 2 ?'m'l's 2 p‘m‘l's

9. Granny Smith made punch. She used 2 pints of ginger ale, 3 pints of fruit punch, and 1 pint of orange
juice. She served the punch in glasses that had a capacity of 1 cup. How many cups can she fill?

{ pwt { pwnt L pmt L pnt L pwt L pwt
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2 cups 2.cups 2. cups 2 cwps 2.cups 2. cups
2 cps x b =120ups . She can Fill 12 cweps.
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Lesson 2: Create conversion tables for length, weight, and capacity units using
measurement tools, and use the tables to solve problems.




